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TURN OFF YOUR CELL PHONE!

Calculators are allowed, but no notes or books.

All the explanations on this exam should be just a sentence or two.

For full credit, give reasons, show work, and use statistical words as appropriate.
The 3 problems are each worth points as marked, total is 100.

I think they are in order from longest to shortest.

Normal table is on the last page, you need not hand this page in.
The exam will be collected at 1pm. When I call time, close your exam and stand up.

If you continue to write, you will receive a 0 for that part of the problem.
GOOD LUCK!

B39
S
5_ oV

Totar_ 1



1) (40 points: 10,10,10,10)
In a large class, the correlation between number of Facebook friends and score on the midterm is
-0.4. (For purposes of this question, assume that everyone is on Facebook.) The 31st percentile
of number of Facebook friends is 200. Also, 64 percent of the students have between 200 and 351
Facebook friends. The midterm average is 60 and the SD is 15. The scatter diagram is footbah\-

shaped. Qsth
a) If possible, find the avg and SD of number of Facebook friends. If this is not possible, explain
why not.
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b) Of the students at the 69th percentile of number of Facebook friends, about what percent

scored below the 69th percentile on the midterm? (Note: you can do this regardless of how you
answered part a.)
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¢) Find the equation of the regression line for predicting midterm scores from number of Facebook
friends. For this question and part d), if you answered that a) isn’t possible (or just didn’t get an
answer), assume that the average number of Facebook friends is 250 with an SD of 80.
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d) Leo has 100 more Facebook friends than Hannah; both are students in this class. If possible, fill
in the first blank with either “better” or “worse” and the second blank with a number (possibly
0) in order to make the sentence below true. If not possible, explain why not.

Without any additional information, we expect that Leo did _ gy Ry on the midterm by

about 85 points.
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2) (85 points: 5,10,10,10)
You have 12 red tickets and 8 green tickets. For a), b), and c), I take 5 draws from this box
Wnd the chances.
a) At least one 1s green
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b) Exactly 3 draws are red
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c) At least one is green or the first two draws are the same
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d) Suppose I wirt'$1 if the perc of times I get a red ticket is less than 55%. 1 can take' eltheT oU

( 0 draws or 150 draws (with replacement).
hoose one of the following options and explain briefly:
should draw 50 times.
ii) I should draw 150 times.
iii) The chance is the same for either 50 or 150 times.
iv) Can’t tell without more information (say what information you need).
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3) (25 points: 10,10,5)

A list of 5 numbers has an average of 11, median of 9, and an SD of 3. One of the numbers is
changed from 10 to 15.

a) If possible, find the average and median after this change is made. If either of these is not
possible, explain why not.
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b) If possible, find the SD after this change is made. If not possible, explain why not.
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c) A histogram for %heg values would:
i) be symmetrical

ii) have a long left tail
®‘ ave a long right tail
%7 can’t tell without more information

+ ( Choose one option and explain briefly.
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